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RIGHT CIRCULAR CONE

1. The ratio of the volumes of two right circular

cones is 1:4 and the ratio of their lengths of


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_BqsDKBEEpfGP

radii of the bases is 4: 5 then the ratio of their

heights is

A 1:5

B.5:4

C.25:16

D. 25: 64

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_BqsDKBEEpfGP

2. If keeping the length of radius of a right
circular cone fixed , the height of it is
increased by 2 times , then the volume of cone

will by increased by

A. 100 %
B. 200 %
C. 300 %

D. 400 %

Answer:

‘ o Wiadk hh \AAA CAaliikianm



https://dl.doubtnut.com/l/_nRm9EXssTDH5
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3. If each of the radius and height circular

cone be doubled , then the volume of the cone

will be

A. 3 times

B. 4 times

C.6 times

D. 8 times

Answer:



https://dl.doubtnut.com/l/_nRm9EXssTDH5
https://dl.doubtnut.com/l/_mGT7pOYDTurV

| ¥ Watch Video Solution |

4. If the length of radius of a right circular
cone be % unit and its slant height be 2{ unit,

the total surface area of if will be

A.2mr(l + r) sq- unit
r .
B.7T’I"(1 + Z) sg-unit

C.7wr(l + r) sqg-unit

D. 27rrl sq-unit

Answer:



https://dl.doubtnut.com/l/_mGT7pOYDTurV
https://dl.doubtnut.com/l/_bC9XFrp4NbcW

\ o Watch Video Solution

5. If a triangle of sides 6 cm , 8cm be rotated
keeping the side of length 8 cm fixded, then

the volume of the cone thus produced will be

|

L

A. 967ce

B. 1207cc

C. 128mcc

D. 200mcc


https://dl.doubtnut.com/l/_bC9XFrp4NbcW
https://dl.doubtnut.com/l/_80tg4O7dgwAE

Answer:

o View Text Solution

6. The area of the base of a right - circular
cone is 25 sq - cm and the hieght is 10 cm .

Then the volume of the cone will be

A15O
g

250
B. —cc

3
350

C.—cc

3
400

D. —cc

3


https://dl.doubtnut.com/l/_80tg4O7dgwAE
https://dl.doubtnut.com/l/_SkME8rffpTBl

Answer:

o Watch Video Solution

7. If the numerical values of the area of the
base and the volume of a right circular cone of
radius 4cm be equal , then the slant height of
the cone is

A.3cm

B.4cm

C.5cm


https://dl.doubtnut.com/l/_SkME8rffpTBl
https://dl.doubtnut.com/l/_1WjrlGaKfu5j

D. 6cm

Answer:

° Watch Video Solution

8. If the height of a right circular cone be
increased by 10 % keeping its radius fixed ,

then the volume of the cone will be

A.5%

B.10 %


https://dl.doubtnut.com/l/_1WjrlGaKfu5j
https://dl.doubtnut.com/l/_KbRYf8UMZ4ZL

C.15%

D. 20 %

Answer:

o Watch Video Solution

9. The volume of a right circular conical tent is
1232cc. If the height of the tent be 24 metres,

the area of the base of the cone will be.

A. 140sg-m


https://dl.doubtnut.com/l/_KbRYf8UMZ4ZL
https://dl.doubtnut.com/l/_3ha7JGDu9uky

B. 145sg-m

C. 154sg-m

D. 160sg-m

Answer:

o Watch Video Solution

10. The difference of the square of the height
and the square of the base of a right circular
cone of slant height 10 cm is 28cm, then the

volume of the cone will be


https://dl.doubtnut.com/l/_3ha7JGDu9uky
https://dl.doubtnut.com/l/_UQWNkODPzZPe

A. 43mce

B. b4

C. 2mcc

D. 967cc

Answer:

o Watch Video Solution

11. If the radius of the base of a right circular

cone by halved and its height be doubled ,


https://dl.doubtnut.com/l/_UQWNkODPzZPe
https://dl.doubtnut.com/l/_GxYAxUTQ9u78

then the volume of the cone remains the

same.

° Watch Video Solution

12. The slant height of a right circular cone is

always greater than the height of the cone.

o Watch Video Solution

13. Among the total surface area , lateral

surface area and the area of the base of right


https://dl.doubtnut.com/l/_GxYAxUTQ9u78
https://dl.doubtnut.com/l/_jyWGlUhLMRkp
https://dl.doubtnut.com/l/_DB9bRCuBGuF9

circular cone , the total surface area is the

greatest in magnitude.

° Watch Video Solution

14. State true or false- If the area of the base
of a right circular cone be 3 times of its

volume , then the height of it will 1 unit.

° Watch Video Solution



https://dl.doubtnut.com/l/_DB9bRCuBGuF9
https://dl.doubtnut.com/l/_BT33iksv0C8D

15. If the area of the base of a right circular

cone be x sq-unit and the volume be y cubic -

3
unit, then the height of the cone will be ?y

unit.

o Watch Video Solution

16. Find the hypotenuses of an isosceles right

triangle whose side is 84/2 cm.

° Watch Video Solution



https://dl.doubtnut.com/l/_zzRyzpj0GkVV
https://dl.doubtnut.com/l/_f96pHSkAQN0P
https://dl.doubtnut.com/l/_GRDiLRq2NFEo

17. If the volume of a right circular cone be V
cubic - unit and the area of the base be A sg-

unit , then the height of the cone is

o Watch Video Solution

18. The number of surfaces of a closed right

circular cone is

° Watch Video Solution



https://dl.doubtnut.com/l/_GRDiLRq2NFEo
https://dl.doubtnut.com/l/_ez0CPsy5sBnF
https://dl.doubtnut.com/l/_BnJmIKYzY0Dn

19. The number of vertices of a right circular

cone is

o Watch Video Solution

20. The lateral surface area of a right circular

cone = (Total surface area)=

° Watch Video Solution

21. The height of a right circular cone is 12 cm

and its volume is 100mcc , then find the radius


https://dl.doubtnut.com/l/_BnJmIKYzY0Dn
https://dl.doubtnut.com/l/_o9fQ4lPn21XQ
https://dl.doubtnut.com/l/_5FW7d0dueH8b

of the cone.

o Watch Video Solution

22. The curved surface area of a right circular
cone is 4/b times of its base area . Find the
ratio of the height and the length of radius of

the cone.

° Watch Video Solution



https://dl.doubtnut.com/l/_5FW7d0dueH8b
https://dl.doubtnut.com/l/_I8dviIKGla7m

23. If the volume of a right circular cone is V

cubic- unit , base area is A sg- unit and height

, , AH
is H unit , then find the value of v

o Watch Video Solution

24. The numerical values of the volume and

the lateral surface area of a right circular cone

are equal. If the height and the radius of the

cone are h unit and r unit respectively , then
1

1
find the value of ﬁ + r_2

| N |


https://dl.doubtnut.com/l/_XdNbrRL5fBOd
https://dl.doubtnut.com/l/_RDEIymHEyXhq

| ¥ Watch Video Solution |

25. The ratio of the lengths of the radii of the
bases of a right circular cylinder and of a right
circular cone is 3:4 and the ratio of their
heights is 2: 3, Find the ratio of the volumes of

the cylinder and the cone.

o Watch Video Solution

26. The ratio of the radius of the base of a

right circular cone and its height is 3:7, The


https://dl.doubtnut.com/l/_RDEIymHEyXhq
https://dl.doubtnut.com/l/_rpwMZ9VZJ3uX
https://dl.doubtnut.com/l/_v9UnjrLYNQr9

volume of the cone is 528c c . Fin the diameter

of the cone.

° Watch Video Solution

27. The radius of a right circular cone is 7 cm
at its vertical angle is 60°. Find the curved

surface area of the cone.

° Watch Video Solution



https://dl.doubtnut.com/l/_v9UnjrLYNQr9
https://dl.doubtnut.com/l/_88weAtn5KpkG

28. If the height and the area of base of a right
circular cone be increased by 4 times, then
how many times the volume of the cone will

be increased ?

o Watch Video Solution

29. The curved surface area of a right circular
cone is 4/2 times of the area of the base. Then

what is the vertical angle of the cone ?

o Watch Video Solution



https://dl.doubtnut.com/l/_q03HHPhAXQ3q
https://dl.doubtnut.com/l/_HHPKDvQa40GU

30. The area of bases of two right circular
cones are equal. If the ratio of the slant
heights be 2: 3, then what will be the ratio of

their curved surface areas ?

o Watch Video Solution

31.If the height and slant height of a cone are
6 cm and 10 cm respecitvely. Then determine
the total surface area and the volume of the

cone.


https://dl.doubtnut.com/l/_HHPKDvQa40GU
https://dl.doubtnut.com/l/_WmLn45Y8cViD
https://dl.doubtnut.com/l/_7M0HT3teyQ0z

° Watch Video Solution

32. 77 sq-cm tripal is required to make a right
circular conical tent. If the slant height of the
tent is 7m, then calculate the base area of the

tent.

o Watch Video Solution

33. The length of the base diameter of a

wooden toy of conical shape uis 10 cm . The


https://dl.doubtnut.com/l/_7M0HT3teyQ0z
https://dl.doubtnut.com/l/_VifNbOVEGN6a
https://dl.doubtnut.com/l/_SuUpFrqoAVmA

expenditure for polishing whole surfaces of
the toy at the raye of rupees 2.10 per square -
metre is rupees 429. Calculate the height of
the toy. Also determine the quantity of wood

which is required to make the toy.

o Watch Video Solution

34. The quantity of iron - sheet to make a boy

3

a of right circular conical shape is 757 sg-m. if

the slant height of it 5 m, then calculate the

volume of air in the boya and its height.


https://dl.doubtnut.com/l/_SuUpFrqoAVmA
https://dl.doubtnut.com/l/_GbSFzGR01zgH

Determine of the expenditure to colour the
whole surface of the boya at the rate of
rupees 2.80 per square - metres. [The width of
the iron - sheet not to be considered while

calculating.]

o Watch Video Solution

35. In a right circular conical tent 11 persons
can stay. For each person 4 sq-m space in the

base and 20m® air are neccessary. Determine


https://dl.doubtnut.com/l/_GbSFzGR01zgH
https://dl.doubtnut.com/l/_7mC6uWvqzCNY

the height of the tent put up exactly for 1

persons.

° Watch Video Solution

36. The external diameter of a conical - coronet
made off thermocol is 21 cm is length . To wrap
up the outer surface of the coronet with foil ,
the expenditure will be rupees 57.75 at the
rate of 10p per -m?. Calculate the height and

slant height of the coronet

° Watch Video Solution



https://dl.doubtnut.com/l/_7mC6uWvqzCNY
https://dl.doubtnut.com/l/_0DmWMSfEXPEk

37. The base area of a right circular cone is
2Im and height is 14m . Calculate the
expenditure to colour the curved surface at

the rate of rs. 1.50 per sq.m.

o Watch Video Solution

38. The shape of a heap of wheat is a right
circular cone, the diameter of base of which is
9 metres and height is 3.5 metres. Find the

volume of the heap of wheat. How much sqg-


https://dl.doubtnut.com/l/_0DmWMSfEXPEk
https://dl.doubtnut.com/l/_bvEEZB9pUxyp
https://dl.doubtnut.com/l/_LrPtNkw12Gae

metre of plastic sheet will be needed to cover
that heap of wheat ? [Given that 7 = 3.14 and

/130 = 11.4].

o Watch Video Solution

39. What will be the height of the cone of
radius 12 cm if a solid cone is made by melting
a solid coneof radius of base 6 cm and of slant

height 10 cm ?

° Watch Video Solution



https://dl.doubtnut.com/l/_LrPtNkw12Gae
https://dl.doubtnut.com/l/_k4PnkD8wP4ez
https://dl.doubtnut.com/l/_rYWSzNeoV5T0

40. What changes will be occured in the
volume of a right circualr cone if its radius be
increased by 10% and its height be

decreased by 10 % ?

° Watch Video Solution

41. If the whole surface area of a right circular
cone be 3696 sq-cm and the ratio of its radius
of base and height be 3:4 , then what will be

the curved surface area of the cone ?

l ° Watch Video Solution


https://dl.doubtnut.com/l/_rYWSzNeoV5T0
https://dl.doubtnut.com/l/_d40dpzxGyc3O

42. If the curved surface area of a toy of
shaped a right circular cone of height 24 cm is
550 sg-cm , then what be the volume of the

toy ?

° Watch Video Solution

43. The volume of a right circular cone is

2
410§cc. If the radius of the base of the cone


https://dl.doubtnut.com/l/_d40dpzxGyc3O
https://dl.doubtnut.com/l/_fLKBI4ZBPMgh
https://dl.doubtnut.com/l/_XODpueqfKmfP

be 14 cm , then what will be the curved surface

area of the cone ?

° Watch Video Solution

44, What changes will be occured in the
height of a right circular cone if its radius of

base is decreased by 50 % and its volaume be

decreased by 25 % ?

o Watch Video Solution



https://dl.doubtnut.com/l/_XODpueqfKmfP
https://dl.doubtnut.com/l/_9HONA5X1IYq3

45. What changes in curved surface area of a
right circular cone will be occured if its radius

of base and height is doubled ?

o Watch Video Solution

46. If the curved surface area , volume height
and semi- vertical angle of a right circular cone

be S,V ,h and «a respectively , then prove that

h2sina 1
S = 7 5 and V = —7h3tan’® a.
Cos* a 3

o Watch Video Solution



https://dl.doubtnut.com/l/_NmVWxhJzNmbC
https://dl.doubtnut.com/l/_fPhuM83z1VBK

47. If the height , curved surface area and
volume of a right circular cone be h, c and v
respectively : then that

3rvh® — h? + 9? = 0.

o Watch Video Solution

48. The height of a right circular cone is 30 cm
. A small part of the cone is cut off from the
above part of the cone with the help of a

plane parallel to the base of the cone. If the


https://dl.doubtnut.com/l/_fPhuM83z1VBK
https://dl.doubtnut.com/l/_dOTbTbsLwwo8
https://dl.doubtnut.com/l/_p5n8S6pToAh5

1
volume of the small part be 57 part of the
volume of the original cone , then at what
distance above the base of the cone , it has

been cut off ?

° Watch Video Solution

49, The lengths of the adjacent sides of right
angle of a right - angled triangle are 20 cm
and 15cm. What will be the total volume of the
two right circular cones when this triangle is

rotated with its hypotenuse taken as the axis ?

| e |


https://dl.doubtnut.com/l/_p5n8S6pToAh5
https://dl.doubtnut.com/l/_8kpCLXzyPQwJ

& Wwatch Video Solution I

1. The diameter of the base of a right circular

cone is 6 cm and height is 4 cm . Then the

curved surface area of the cone is

A. 157 sq-cm

B. 307 sq-cm

C. 40 sg-cm

D. 55 sg-cm


https://dl.doubtnut.com/l/_8kpCLXzyPQwJ
https://dl.doubtnut.com/l/_wOnDBNOWijKz

Answer: A

o Watch Video Solution

2. The ratio of the radius of the base and
height of a right circular cone is 5:12 . If the

2
volume of the cone be 3147cc then the slant

height of the cone will be

A.13 cm
B.14 cm

C.17 cm


https://dl.doubtnut.com/l/_wOnDBNOWijKz
https://dl.doubtnut.com/l/_aNfzEoeI7AJZ

D. 26 cm

Answer: A

o Watch Video Solution

3. The ratio of the heights of two right circular

cones is 1:3 and the ratio of their diameters

of bases is

Al:5

B.5:9


https://dl.doubtnut.com/l/_aNfzEoeI7AJZ
https://dl.doubtnut.com/l/_GkXthCwfjgDj

C.3:25

D.6:13

Answer: C

o View Text Solution

4. The height of a right circular cone and its
diameter of base equal, then the ratio of
whole surface area and curved surface area

will be


https://dl.doubtnut.com/l/_GkXthCwfjgDj
https://dl.doubtnut.com/l/_VTSS6QnY9cDn
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Answer: C

o Watch Video Solution

5. If the area of the base of a right circular
cone be 4772 sq-cm and height be 3 cm , then

the volume of the cone will be


https://dl.doubtnut.com/l/_VTSS6QnY9cDn
https://dl.doubtnut.com/l/_6TpYdXkNUtuK

A. 127r?ce

4
B. §7r7~2hcc

4
C. §7rr2hcc

D. 4nr’cc

Answer: D

o Watch Video Solution

6. The ratio of the diameters of the bases of

two right circular cones is 2: 3 and if the ratio


https://dl.doubtnut.com/l/_6TpYdXkNUtuK
https://dl.doubtnut.com/l/_mPhA4Fvj7U7F

of their volumes be 2:3 , then the ratio of

their heights will be

A 2:3

B.3:2

C.4:9

D.9:4

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_mPhA4Fvj7U7F

7. If the height of a right circular cone be 4.8

cm and its diameter of base 4 cm, then the

slant height of the cone will be

A.4.2cm

B.5.2cm

C.6.2cm

D.7.2cm

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_ErE0wC6PLRa0

8. If the circumference of the base of a right

264
circular cone be %cm and its slant height

be 10 cm , then the volume of the cone will be
A. 288mcc
B. 2767mcc
C.292mce

D. 302mcc

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_B3fKF6V5pAIM

9. The radius of base and height of a right
cone are equal . Keeping radius constant , if
the slant height of the cone is increased by
V2 times , then the relation between height
and radius will be

A. height = radius

B. height = /2 x radius

C.height = /3 x radius

D. height = 2 X radius

Answer: C


https://dl.doubtnut.com/l/_TGGaXQNrYvxv

° Watch Video Solution

10. If the total surface area of a right circular

cone of radius 3cm be 247 sqg-cm, then its

volume will be.

A. 257ec

B. 30mce

C. 32mcc

D. 36mce

Answer: D


https://dl.doubtnut.com/l/_TGGaXQNrYvxv
https://dl.doubtnut.com/l/_QCoLzvIXar4a

° Watch Video Solution

11. The curved surface area of a right circular

cone of height h unit and radius of base r unit

is Tr4/ h? 72 unit .

° Watch Video Solution

12. If the whole surface area of a right circular

cone be A; sg- unit andif its curved surface


https://dl.doubtnut.com/l/_QCoLzvIXar4a
https://dl.doubtnut.com/l/_nLLkSLsOrGE9
https://dl.doubtnut.com/l/_gAxN1SVm1Cdv

area be A, sqg-unit, then the area of the base

is (A; — Ay) sq-unit.

° Watch Video Solution

13. If the radius of base and height of a right
circular cone be increased by 3 times , then
the volume of the cone will be increased by 27

times.

o Watch Video Solution



https://dl.doubtnut.com/l/_gAxN1SVm1Cdv
https://dl.doubtnut.com/l/_XRx6R6WTnpxw

14. The slant height of a right circular cone of
radius of base 4 unit and of height 3 unit is 6

unit.

o Watch Video Solution

15. The curved surface area of a right circular
cone of height 3 times of its radius and of

slant height 10 unit will be 10,/107 sq-unit.

o Watch Video Solution



https://dl.doubtnut.com/l/_y9Yfmy5Nc2ch
https://dl.doubtnut.com/l/_2IX7DuEBVRkz
https://dl.doubtnut.com/l/_tsmY5HD8LJCr

16. The length of slant height of a right
circular cone is always greater than the length

of its height .

o Watch Video Solution

17. Between the 2 surfaces of a closed right
circular cone, the one is plane surface and the

other is a curved surface.

o Watch Video Solution



https://dl.doubtnut.com/l/_tsmY5HD8LJCr
https://dl.doubtnut.com/l/_yzBvYTxtIerd
https://dl.doubtnut.com/l/_2rd1RQRKBFzO

18. The base of a right circular cone may not

be circular.

° Watch Video Solution

19. if the height and the radius of base of a
right circular cone be equal , then the ratio of

height and slant height will be 1: /2.

° Watch Video Solution



https://dl.doubtnut.com/l/_2rd1RQRKBFzO
https://dl.doubtnut.com/l/_uu8oVCZG69lE

20. The volume of a right circular cone of

radius of base r unit and of height h unit is

1 .
—mr“h cubic-unit.

3

o Watch Video Solution

21. If the vertical angle of a right circular cone
be o and its radius of base be r unit, then the

height of the cone will be

o Watch Video Solution



https://dl.doubtnut.com/l/_FLeFXudOAdcj
https://dl.doubtnut.com/l/_FXBkIBcB1QMx
https://dl.doubtnut.com/l/_tqz2VupO8sQ3

22.If a right- angled triangle is rotated at an

angle of with its hypotenuse as the

axis , then a right circular cone is produced.

o Watch Video Solution

23. The line segment joining the vertex of a
right circular cone and the centre of the
circular base of it will be on its base -

plane.

° Watch Video Solution



https://dl.doubtnut.com/l/_tqz2VupO8sQ3
https://dl.doubtnut.com/l/_Pdh6dzLyYcPq

24. The curved surface area of a right circular

cone = X slant height.

o Watch Video Solution

25. The whole surface area of a right circular
cone = half of the circumference of the base of

the cone x

o Watch Video Solution



https://dl.doubtnut.com/l/_B9gqqQaN4kol
https://dl.doubtnut.com/l/_pCtWwBZpIFCt

1. If the volume of a right circular cone be 450
c c and the area of its base be 150 sq-cm, then

what will be the height of the cone ?

° Watch Video Solution

2. The ratio of the radius of base of a right
circular cone and its height is 3:4 . If the
volume of the cone be 301766 , then what will

be the height of the cone ?

l ° Watch Video Solution


https://dl.doubtnut.com/l/_CUaMdSvAkd8E
https://dl.doubtnut.com/l/_iRU3OXhhYu2f

3. The slant height of a right circular cone is 3
times of its radius of base . If the whole
surface area of the cone be 50.24sq-cm, then

what will be the height of the cone ?

° Watch Video Solution

4. The sum of the slant height and radius of

base of a right circular cone is 16 cm. If the


https://dl.doubtnut.com/l/_iRU3OXhhYu2f
https://dl.doubtnut.com/l/_80qdzyHbyxCq
https://dl.doubtnut.com/l/_0EMbOLUutgeg

height of the cone be 8 cm , then what will be

the slant height of the cone ?

° Watch Video Solution

5. If the vertical angle of aright circular cone
be 60° and its diameter of base be 14 cm ,
then what will be the curved surface area of

the cone ?

o Watch Video Solution



https://dl.doubtnut.com/l/_0EMbOLUutgeg
https://dl.doubtnut.com/l/_oCLmTCmr1Nh6

6. The ratio of the radii of bases of two right
circular cones of equal heights is 5:6. Then

what will be the ratio of their volumes ?

o Watch Video Solution

7. The ratio of the curved surface areas of two
right circular cones of equal slant heights is
2: 3. Then what will be the ratio of their areas

of bases of the two cones ?

o Watch Video Solution



https://dl.doubtnut.com/l/_g7RRwiRRE5yL
https://dl.doubtnut.com/l/_7DphHsWZEOG6

8. The slant height of a pot of shaped a right
circular cone is 130 cm and if the diameter of
the base be 100 cm , then how much litres of

water will contain in the pot ? (7 = 3.14)

o Watch Video Solution

9. The numerical value of the whole surface
area of a right circular cone and the volume
are equal. If the slant height , height and

radus of base of the cone be | unit , h, unit


https://dl.doubtnut.com/l/_7DphHsWZEOG6
https://dl.doubtnut.com/l/_Ci8zNepc6PIZ
https://dl.doubtnut.com/l/_zGMKitsJjPv9

and r unit respectively , then prove that

9h = r*(h — 6).

° Watch Video Solution

10. How many times the whole surface area of
a right circular cone will be increased when
the radius of base and slant height of the

cone be both doubled ?

o Watch Video Solution



https://dl.doubtnut.com/l/_zGMKitsJjPv9
https://dl.doubtnut.com/l/_pbsicFxZBb9g

1. The volume of a right circular cone is 1232 ¢
c . If the diameter of the base cone be 28 cm,
then what will be the curved surface area of

the cone?

o Watch Video Solution

2. The ratio of the radius of base and height of

a right circular cone is 4: 3 , if the area of the


https://dl.doubtnut.com/l/_LpYtGLSoa6pe
https://dl.doubtnut.com/l/_sNybnf9e8tkw

base of the cone be 154 sq-cm, then what will

be the curved surface area of the cone ?

o Watch Video Solution

3. The radius of base and height of a right
circular cone - shaped pot are 21 cm and 28 cm
respectively , Then what will be the curved
surface area , whole surface area and volume

of the pot ?

o Watch Video Solution



https://dl.doubtnut.com/l/_sNybnf9e8tkw
https://dl.doubtnut.com/l/_ZuMchkbvQLYY
https://dl.doubtnut.com/l/_0QAtwPNdUFHd

4.The ratio of the radius and slant height of a
right circualr cone 4:7. If the curved surface
area of the cone be 792 sq-cm, then will be the

volume of the cone ?

o Watch Video Solution

5. The circumference of the base of a right
circular cone - shaped tent is 88 metres and its
height is 2 metres. How many length of the

canvas will be required to cover the tent if the


https://dl.doubtnut.com/l/_0QAtwPNdUFHd
https://dl.doubtnut.com/l/_siFXJAqQzLlO

breadth of the canvas be 2 metres ?

(v2 = 1.414).

° Watch Video Solution

6. The sides of a right angled triangle are 20
cm , 16 cm and 12 cm respectively . Find the
total volume of the two cones produced by
rotating the triangle with its hypotenuse as

axis.

° Watch Video Solution



https://dl.doubtnut.com/l/_siFXJAqQzLlO
https://dl.doubtnut.com/l/_EvtQOJxAtQCm
https://dl.doubtnut.com/l/_kmu97FEiPbok

7. A conical tent is required to accommonate 5
people each person must have 16 sg-ft of
space on the ground and 100 cubic -ft or air to
breathe . Find out the vertical height and slant

height of the tent.

o Watch Video Solution

8. The external diameter of the base of a right
circular cone - shaped wooden toy is 10 cm.
The expenditure of colouring the total surface

area on the outside of it at the rate of rs 0.07


https://dl.doubtnut.com/l/_kmu97FEiPbok
https://dl.doubtnut.com/l/_aVrYz3oSwhNk

per sg-cm is rs 19.80 Find the slant height of

the toy.

° Watch Video Solution

9. If the volume , height and semi - vertical
angle of a right circular cone be vh and «
3

respectively, then prove that 3vtana = nr”,

where r=radius of base.

o Watch Video Solution



https://dl.doubtnut.com/l/_aVrYz3oSwhNk
https://dl.doubtnut.com/l/_I5fK7JODpFeg

10. A right circular cone of height 20 cm is
divided into two parts by a plane surface
through its midpoint of the axis and at right
angle with it . If the radius of base of the intial
cone be 4 cm , then find the volume of the

split cone.

o Watch Video Solution

11. 25 small metal cones of radius 6 cm each

are made by melting a large right circular cone


https://dl.doubtnut.com/l/_bgoBWUILO7C3
https://dl.doubtnut.com/l/_E9Dlqka1BanR

of radius 15 cm and of height 20 cm . Find the

height of the small cones.

° Watch Video Solution

12. The height of three right circular cones of
radii 3 cm , 4 cm and 5 cm respectively is 10 cm
. If a large metal cone of diameter 20 cm is
made by melting those three small cones |,

then what will be the height of the large cone

?

° Watch Video Solution



https://dl.doubtnut.com/l/_E9Dlqka1BanR
https://dl.doubtnut.com/l/_s4aPyB3uMpux

13. The ratio of the height and radius of base
of a right circular cone is 4: 3. What changes
will be occured in the total surface area of the

cone if its height and radius of base be

doubled ?

o Watch Video Solution

14. How many percentage of the volume of a

right circular cone will be increased or


https://dl.doubtnut.com/l/_s4aPyB3uMpux
https://dl.doubtnut.com/l/_7sP015WJeskY
https://dl.doubtnut.com/l/_C97UmrFvckEE

decreased if its radius of base is increased by

20 % and its height is decreased by 10 % ?

° Watch Video Solution



https://dl.doubtnut.com/l/_C97UmrFvckEE

